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students will read the question paper only and will not write any answer on the
answer-book during this period.

59/1/1 Page 1 of 23 P.T.O.



i)
o e
HETITRGT 14551 %1 a5 GIae] & 91T 37 37T T & i HIry :
() 37 ¥97-97 4 30 I97 & | @I Io7 A9 7 |

(i) I8 J97-97 Giel @S] 5 [Ayf5q 8- @ue &, @&, T, 90q & /

(iii) @UE & H Y97 &1 1 & 12 7% Fglashedid (MCQ) YHR & UH-Ud 37% & Y97 & |

(iv) WIS @ 7 Fo7 &7 13 § 18 TF Tg-IH1¥ (SA) JoR & FI-§1 3Pl & Fo7 & |
J9F Y97 HT I 50 Jed] @ 37feeh 787 5147 =130 |

(v) U T H I3 G&IT 19 T 23 TF TH-370F (LA) IJHR & AR-°AR 3H] & J37 3 |
Y% Y97 &7 I 100 551 G 371 787 F147 =0ieT |

(vi) TUE T H J97 G&IT 24 T 26 TF TR, HigT a9l THITT-STIRT T97 & |

(vii) @WUE FF J97 &7 27 G 30 7% F7-3709 (LA) YHR & Bg-Bg HH & J97 8 /
JiF J97 HT I 170 Fs5] & 3718 &1 &7 T |

(viii)) Fo7-T7 § B3 TII [dHcT 781 & | TET F& T T ake [FdHcT BT Jae/ 727
T B | 37 I § & T Uk 81 FIT HT I [o7ET W |

(ix) 3G% 3IRE, Y% GUS U5 Jo) & &I9, g Savqs 5, [He5 R 1w & |

«usg

7 &I 1 & 12 % TFlashedid (MCQ) J#R & Uh-Uh 7% & Jo7 & |/ 12x1=12

1. G fashed I a9 qU HIfT

BICIEGRICIEE |

(a) Hifodad 99 i HEFE I & TEEad o

(b) FH % GTAAE] TA b TLATIH &

(c)  dfeaw U Qo0 o Teh a1 o

(d) Eifoad g9 4 gari &1 folig s 9Tl T a1 9
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

In Section D - Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

In Section E - Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
1 mark each. 12x1=12

59/1/1

Choose the correct option to complete the sentence :

Mikhail Gorbachev was

(a)  General Secretary of the Communist Party of USSR
(b)  the founder of the Communist Party of Russia
(c) a leader of Western European countries

(d)  aleader against reforms in the USSR
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e f&m |

(a) TSI SAT_ra o (b)  ETRdh TGIeH o
(c)  TTHEINTH ST=gIa o (@) vATEef STgieH o

frfeifaa o & -t TeT =S ol sl Tehd T HIH HLdl 8 ?
(a) EIh TS HHATERR AT

(b) T g YLl TG

(c)  ATRE™

(d) TR g

T W & ShiH-|1 Teh dfdeh e & ot @ 787 © ?
(a) TS AT (dfTaek AMalg) (b)) STAUSEE SAAHRdATg
(c)  wEmIRAl (d) =gl shiAd

fafafga & 9 -8 %I T & I1 § T8l 3 ?
() vl i fomad Afvaes Toifa &1 37 3 |
(i) AR W UH geH 1992 H fR-El-smia § smfoa gam o |

(iii) EYH TSCHT 7 AU HRIHAT 1 T TIH TS HHATIDRR TR

%! |y feam 2 |

(iv) gl SEE SRl TS TG Usg g Teram T o |

g faered T |
(@) (), (i), (iv) (b) (1), (i), (iv)
© @, (i), (ii) )  Gi), (iid), (iv)

fFfeTRad § & hIH-91 Toh IvaTehiul sl T&F R 7 ?
(a) T USCHT hl TS

(b) 8 Srenfiehl 1 e

(¢ Toma o 1 Tame

(d) 9Rd AR AT A el F I]AqH
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Choose the correct option to complete the sentence :

Arab Spring was a

(a)  Political movement (b)  Cultural movement

(c) Social movement (d)  Environmental movement

Which one of the following organisations works to prevent international
conflicts ?

(a)  United Nations Human Rights Commission
(b)  United Nations Security Council
(c) ASEAN

(d) Amnesty International

Which one of the following is not a threat to global security ?
(a)  Global warming (b)  International terrorism

(c) Epidemics (d)  Rising prices

Which of the following statements about environment are correct ?
(1) Environmental concerns are part of the global politics.
(i1)) A conference on environment was held in Rio-de-Janeiro in 1992.

(iii) The UN has assigned the environmental programmes to UN
Human Rights Commission.

(iv) The Earth Summit was organised by the United Nations.
Choose the correct option.

(@) (), (i), (iv) (b) (), (1), (iv)

(c) (1), (1), (iii) (d) (@1, (111), (iv)

Which one of the following is the main cause of Globalisation ?
(a)  The formation of United Nations

(b)  The development of new technology

(¢)  The establishment of the World Bank

(d)  The rise of economy in India and China
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HfaiRad foehedl § & WA o A < TSl arell g T
(a)  3T9H, AL, SUETE

(b)  wiT, Fgu, ArTeivs

(c) SIS, -ﬂllléus, JTEUS

(d) @i, HEmrre, iRy
8. A YU i & fAu wEl fasheq T -

TRA TR 3 G 13T i & fifq & 9 o SR |
(a) TrEfome fospra b) b sreferacen
(c) HHSETG (d) SRt
9. 1974 T U 3T SdT 1 ATEM foraa femarm o 2
(a)  STAYRTI TR0 (b) Sl BASH
(¢) W HAE SAlfg (d) HRRST <ETs

10. TR P FIAHATIR SFafedd HifIT
(i)  UTfehea™ o YR T eyl gaufer O |
(i) G egeel SIHLHIHN T THR-HATTH & |
(i) USITE HHSG W ANTET 3R TSia et 7 geaner fhu o |
(iv) ~SPHhTHI T Gt fam oft |

gt faered T |
(a) (), (11), (iii), (iv) (b) (@), (1), (i1), (ii1)
()  (v), (i), (1), (iii) (d) (@i, (1), (iv), (iii)

11. Tr=fafad & @ fopg ga@ @it 3 gduem wra § 31ifee gumi i esta i 2
(a)  sfqu el
(b)  ThE TR
(c) TR Tog
(d)  F% PAR TS
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7. From the following options, choose the set of States that belong to
North-East India only.

(a)  Assam, Manipur, Chhattisgarh

(b)  Manipur, Tripura, Nagaland

(c) Jharkhand, Nagaland, Uttarakhand
(d) Manipur, Maharashtra, Mizoram

8. Choose the correct option to complete the sentence :

Five Year Plans were adopted by the Government of India as a policy of

(a) planned development (b)  mixed economy

(¢) socialism (d) industrialisation

9. Who gave a call for a nationwide Railway Strike in 1974 ?
(a) Jayaprakash Narayan (b)  George Fernandes
(c) Ram Manohar Lohia (d)  Morarji Desai

10. Arrange the following in the chronological order :
(1) Pakistan sent tribal infiltrators to Kashmir.
(ii))  Sheikh Abdullah became Prime Minister of Jammu and Kashmir.
(iii) The Punjab Accord was signed by Longowal and Rajiv Gandhi.

(iv) Jammu and Kashmir was a Princely State.

Choose the correct option.
(@) (1), (), (i), (iv) () Gv), @), (1), (1)
(e (@), (i), (1), (iii) (d) G, (1), Gv), (iii)

11. Who among the following was the first Prime Minster to start economic
reforms in India ?
(a)  Indira Gandhi
(b)  Rajiv Gandhi
(c) Manmohan Singh
(d) Inder Kumar Gujral
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FRU (R) ZRT 37fHhd 197 797 8 | 57 FI1 #1 &917 & 90 IR 19 77 77 fasbeqr
(@), (b), (c) IR (d) T @ 3T & &7 7 Gg71 fdHcq T |

12.

13.

14.

15.

16.

17.

18.

59/1/1

STYHYT (A) : W3 1977 H, A1 UET I AR = AR . H1. M8 & qcd §
Teh S AR ol s fobam |

HR (R) : AR 1 sfeq el SRR g/ i SAUTdeRTd o ShRON <kl
Sii= o fote fgeh foarm T o |
(a)  ITYHI (A) 3 SR (R) THT Tal & 3 SR (R), AR (A) hI
g ST KT 2 |
(b)  SATHA (A) 3T HRU (R) THI T &, T RV (R), AMHeT (A) H
& AT 7T S § |

(c) AR (A) HEl B, Tq BRI (R) TAd 7 |

d) AT (A) A 8, T RV (R) T 2 |

TGUE W
‘srifeRm et 1 foheel @ AUl RISt sl IR HINT | 2x1=2
feregl gt 3qTEXvl ol TR ¥ TIH TsgH 6l I <l gST | 2x1=2
“qra’ ug it e Hif | 2
w8 gl = &EfiT o & 9m fafae, e fodl = 3+t oot TR

S B | 4><é=2
Hed N i foheal al T il IR IR | 2x1=2

YR H ugell fiefi-Selt sepr (Tedyd i wer) fha av o st R =i
a1 ? 1+1=2
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For Question number 12, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (a), (b), (c) and (d) given below.

12. Assertion (A) : In May 1977, the Janata Party government appointed a
Commission of Inquiry headed by Justice J.C. Shah.

Reason (R): The Commission was appointed to inquire into the
reasons for declaring Emergency, by the Indira Gandhi

Government.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

SECTION B
13. Highlight any two important features of the ‘ASEAN way’. 2x1=2

14. Show with the help of any two examples, the strength of the United
Nations. 2x1=2

15. Explain the term ‘Security’. 2

16. Name any four regional parties which have ever formed their government

in any State. 4x é =2
17. Highlight any two recommendations of the Mandal Commission. 2x1=2

18. In which year was the first coalition government formed in India and
why ? 1+1=2
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Qus 1

GfE® (UNICEF)’ 1 q01 €9 ffEU qe 36k I3 &l ¥ oTiay |

3 eh STa T STellhiul < U feheal g1 SwTal ol forgetwor ifrg |
STep{deh THTEHT o T o 1§ &l ST ST |

TRA-S90Id g9 b fopeal IR famiwarsti <kl s hifsu |

Tt g o foru sfen niieft g 331w 71U forgl =R shedt ol ISR shIfST |

Qus ¥

FTRET ST Wi SITYE dieq 1R = fgu 11 weai & I T |

1+3=4

2x2=4

2x2=4

4x1=4

4x1=4

4x1=4

““M % WU gU g 7 WRA & Aaqrell H qai & 6t earera feufa % ufd
gad foRaT | STAT-9eT Td 3T Afaehibd B o fdith, I8 & Wd *

Tne TS T@SAT 3T TSiifeh Tehal o foTw gt Segqa oL @1 o1 |7
() Tr=fafad ¥ 9 81 T3, Q@) & T 7@ 8 2

(a) IS oW (b) IAETE
(c) WA @ B
(i) F=fIied § ¥ SE-A1 TSF, IRA-H g & HRU T8 e Jurfad
7T ?
(a) 31&H (b)  HNTAUE
(c)  3TEUTEA YeI d) fafopm
(i) F=fIfegd § & -8 TSF, YRA-IH g o qid 1¢ AR § Tied
fepam T o 2
(a) TS (b) ™
(c) TaformH (d) TS YW
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24.
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SECTION C

Write the full form of ‘UNICEF’ and state any two functions of it.
Analyse any two effects of globalisation on your daily life.
Suggest any two measures to conserve the natural resources.
Explain any four features of India-Israel relations.

Highlight any four steps taken by Indira Gandhi to remove poverty.

SECTION D

1+3=4

2x2=4

2x2=4

4x1=4

4x1=4

Read the following passage carefully and answer the questions that

follow :

dx1=4

“The war with China alerted the Indian leadership to the volatile

situation in the North-East region. Apart from being isolated and

extremely under-developed, this region also presented India with the

challenge of national integration and political unity.”

(1) Which one of the following States is not a North-Eastern State ?

(a) Arunachal Pradesh (b) Uttarakhand

(c) Meghalaya (d) Tripura

(ii)  Which one of the following States was affected the most due to

Sino-Indian conflict ?
(a) Assam (b) Nagaland
(¢) Arunachal Pradesh (d) Sikkim

(iii) Which one of the following States was created in the North-East

just after the end of Indo-China War ?
(a) Nagaland (b) Assam

(c) Sikkim (d) Arunachal Pradesh

Page 11 of 23
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HH-AT TSHITTH g, YRA-IH g o qd a1¢ A Haug 8+ =

R forafed g ?
(a) T urdf
(b)  hiuE urdf

(c) HEIEe UTdl ATh gfea

(d) SHE"

HRA o [¢U 7T TSI [@I-AFRE (T8 13 W) § =R TSII/h35-SMd &=
H @A), ®, © a9 D & g 2Afha T T 3 | = & 18 THFH o AR
W T TSAI/heg-IMd &1 <l Ig=a hiforg SR 1ot IT-gfedert § 3ioh Tal
I, TANT <l T8 THHRT shl ShH-G&AT 997 THF § fean T Tefia 18), e

3 T8 arferent o ®9 ¥ fafEn
TN <hl T8 JHe/ | "t | fea
1 SHH-TE T Gl 318 s =l A

1)
(i1)
(iii)

(iv)

(1)

(i1)

(iii)

(iv)

I8 TsT o8 gsd A= & 37e987, .1, HSd 1 gre-y o |

I8 TSI gl g FHTS qref 9 YA qgAt IR S1TS |
€ heg-SIMd & TSEehT 89 2019 | fomam =T o |

g TSI &l § gfag =7 HWH SHIfdeh el 1 367 g |
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Which political party got split just after the Indo-China War due to

internal differences ?

(a)  Swatantra Party

(b)  Congress Party

(c) Communist Party of India

(d) Jana Sangh

In the given political outline map of India (on page 15), four
States/Union Territories have been marked as @, , @ and @

Identify these States/Union Territories on the basis of the information

given below and write their correct names in your answer-book along

with the respective serial number of the information used and the

concerned alphabets given in the map as per the following format :

(1)

(i1)

(iii)

(iv)

Serial number of the | Concerned alphabet Name of the
information used given in the map State

(1)

(i1)

(iii)

(iv)

The State to which the Chairman of the Mandal Commission,
B.P. Mandal, belonged.

The State where Bahujan Samaj Party formed its first

government.
The Union Territory which was constituted in 2019.

The State from which the political party Dravida Munnetra
Kazhagam originated.
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For question no. 25
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26.

59/1/1

g:
(25.1)
(25.2)
(25.3)

(25.4)

= fou U T 1 TemEE i IR ffaiRaa Tt o I i

SIS FHIS UTEl o Tk Ad1 sl 4 fAfay |

WA o gl I TE it B 9 2

TS TN o 37e¥ed, «t.4i. dsd, YRd & fpd T § TeEfg o ?
2019 | TorH g & 1 T34 foram T o 2

1)

et e o R

TRl 3T 931 919 -8 3T i <31 @ 8 ?
o haN (o ~ o (o

(a) ToreimM eem@ 31% afte san

(b) o egmd 1% afta weee
o N\ (o ~ o (o

(¢c) ToIome emd 1% afie 38

d) T TE 1% afta sam

L - —— A+ d—— =
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26.
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 :

(25.1)
(25.2)
(25.3)

(25.4)

Name the founder leader of the Bahujan Samaj Party.

Who was the first Non-Congress Prime Minister of India ?

4x1=4

B.P. Mandal, the chairman of Mandal Commission belonged to

which State of India ?

Which Union Territory was constituted in 2019 ?

Study the cartoon given below and answer the questions that follow :  4x1=4

(1)

\ -
’)bé'

L

7

LU

The tiger sitting on the right-hand side represents
organisation ?

(a)  Liberation Tigers of Tamil Eelam
(b)  Liberal Tigers of Tamil Estate

(c) Liberation Tigers of Tamil East
(d)  Liberal Tigers of Tamil Eelam

Page 17 of 23
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(i) 1983 g el H IV TN fHHfIRad § ¥ fohd X aTia o1 ?
(a) TR g TeHIfae Wit & s deuma
(b) HHR GRI & TSR o s ¥euTd
(c)  WThR GHI Gl &nll o off=l Hewr
(d) TR G T gl o o9 YewE
(i)  #ietept H = o 9N H FEfdiad § @ SH-H1 %0 &7 7 ?
(a) WA 36 THEN ¥ T Tl AN HI3 TEqerd T foha |
(b) YNA 4 TIH USCHT § THET §A i ol hal |
(¢) YNA 3 *ficiehl & @Y TH THSd W gEer fohy i awe =+
THIYH § WA g3 |
(d) 99 % GRHE, WRA A HicTeht o TY U ToHRIH g qIg T |

(iv) SIS 9T T3 <l & ?
(a)  Hficispt &l TR WER faUeht gHi 10 & e agad sHH § J%d
sl

(b) I TC THR & foeg o |
(c) TR 4 gHI FHSHI < T1Y FHH EgR foha |

(d) TER fque A1 el o o= Jqe ST 984 oA o |

qie:  [AElgd J97 H9c GRS GhTdai & 170 397 G126 % T R
g: dx1=4
(26.1) #fieh | Hoy o o= o |
(a) Haareﬁ
(b) @ &
() & gdf
(d) 2 foemremet
59/1/1 Page 18 of 23
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(ii)  The conflict in Sri Lanka from 1983 onwards was based on which
of the following ?
(a)  Discrimination by the government between political parties

(b)  Discrimination by the government between two
communities

(c) Discrimination by the government between two regions

(d)  Discrimination by the government between two religions

(iii)  Which one of the following statements about Sri Lankan crisis is
true ?

(a) India did not interfere in the crisis and kept away from the
problem.

(b)  India asked the United Nations to resolve the problem.

(c) India signed an Accord with Sri Lanka and got involved in
the solution to the problem.

(d) India snapped its diplomatic relations with Sri Lanka
during the crisis.

(iv) What message does the cartoon convey ?

(a)  Sri Lankan government managed to balance the two rival
groups.

(b)  Both the groups were against the government.
(c) The government treated both the communities equally.

(d) It was very difficult to maintain balance between the two
rival groups.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(26.1) In Sri Lanka, there was a conflict between
(a) two communities
(b)  two regions
(c) two religions

(d)  two ideologies
59/1/1 Page 19 of 23 P.T.O.



(26.2)

(26.3)

(26.4)

27.

28.

59/1/1

ﬁ%

1989 #, YRa o sficiert A A g1, F=falRaa d ﬁ fohd Teh 9
Jr=ard WSt ?

(a) WRAME I 98

(b) WA IMfr BT

() W™ 3l gd

(d) dffer 6 IR B4

SficTeRT <1 BT o Toeg o1 aTel afdal @ o TYg 1 AW faRay |
(a) YR aba

by foag (. ddsg.)

(c) qffeHd HIX SHIHH]

(d) THA IS B

TeNl o STeg, Sfetet 3 |

(a)  oATfefeh gfg R foehm wmed femam

(b) AdaEdr § filrae g i

(c) SHEEAT U gig &3l ohl

(d =R A fee oo

Qs

gifedd @9 & faged & fou SRt el 9 sron s fagewo

i | 3x2=6
3T

‘s T8 & Iy B o fohegl €1 ShRuN den 39 SAeiad o fohegl @l

gfemmat =1 fagere SR | 4x1§=6

WaAdl % 9 WA % G0y 33 fohegl oM FHNAAT hl IATR

hifaT | 3x2=6

reran
oot fmadt (Warel) = YRa 99 e i § TR deavyTs 9ed
! RT IR T | fopegl i 3gTetvn shl FERIaT § 379+ 3T
A I | 3x2=6
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(26.2)

(26.3

(26.4)

(a)

(b)

(a)

(b)
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In 1989, India sent troops to Sri Lanka, named as :
(a) Indian Peace Groups

(b)  Indian Peace Keeping Force

(c) Indian Peace Workers

(d) Indian Troops for Tamils

) Name the group of Tamils who fought against the army of
Sri Lanka.
(a) Indian Tamils
(b) LTTE
(c) Tamils for Democracy
(d) Tamil United Front

In spite of conflict, Sri Lanka has registered __
(a) rise in its economy and development

(b)  fall in its economy

(c) rise in the population

(d) fall in its trade
SECTION E

Analyse any three reasons responsible for the disintegration of the
Soviet Union. 3x2=6
OR

Analyse any two reasons for the beginning of ‘Arab Spring’ and any

. 1
two outcomes of this movement. 4x1 5 =6

Highlight any three challenges faced by India after independence. 3x2=6
OR

Highlight the role of Sardar Vallabhbhai Patel to bring the Princely
States into the Indian Union. Support your answer with the help of
any three examples. 3x2=6
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fopegl 9 qeat o TUR W HiNT | 3x2=6
AUAT
“fafir gweel o STES[g, eV TRET W @t <uI %k AT Alhad o
O Td IFh! AHIAT B & | ohedl a1 IUIH I¢e0 dfegad 39
o gfed HIfT | 3x2=6
AT < 91 U9 S gul H WA TSHITG § HEE 91e o T4 h
fepeal 9 seron =1 favawor hifse | 3x2=6
AT
1975 T 3TATdehTc =INd i o fohegl a9 Rl vl fagawor Hifu | 3x2=6
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Evaluate the strength of European Union as the most effective

regional organisation on the basis of any three facts. 3x2=6

OR

“Despite various problems, the people in all the South Asian
countries share the aspiration and support for democracy.” Justify

the statement with any three suitable examples. 3x2=6

Analyse any three reasons for the dominance of the Congress Party

in Indian politics during the initial twenty years after

independence. 3x2=6
OR

Analyse any three reasons for the declaration of Emergency in
1975. 3x2=6
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